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QUESTION 1

A technician needs to improve a workstation\\'s overall response time for frequently used applications and data without
removing the current hard drive. Which of the following storage devices should the technician install to BEST
accomplish the objective?

A.M.2

B. SAS

C. HDD

D. SCsI

Correct Answer: A

Installing an M.2 SSD will improve a workstation\\'s overall response time for frequently used applications and data
without removing the current hard drive. M.2 drives are faster and more efficient than traditional hard drives, making

them a good option for increasing overall performance. References: CompTIA A+ Certification ore 1 Exam Objectives -
1.5 Given a scenario, configure storage devices and use appropriate media

QUESTION 2

Which of the following is the PRIMARY security concern with virtual machine escape?

A. Cross-site scripting

B. Compromising the hypervisor

C. Overutilization of resources

D. Rogue virtual machines installed on the hypervisor

Correct Answer: B

The primary security concern with virtual machine escape is compromising the hypervisor, which can allow attackers to

gain access to other virtual machines or the host system. Virtual machine escape refers to an attack that allows a guest
virtual machine to break out of its isolated environment and access other parts of the system.

QUESTION 3

A startup company is outgrowing its current office space and is requiring employees to work remotely. The company
must comply with government-enforced requirements to safeguard all aspects of data, so the IT department plans to
maintain complete control over users\\' operating systems. Which of the following should the IT department implement?
A. VDI

B. laaS

C. VPN
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D. SaaS

Correct Answer: A

The IT department should implement VDI. Virtual Desktop Infrastructure (VDI) is a technology that allows users to
access a desktop operating system from a remote location. VDI provides complete control over users\\' operating

systems, which is important for safeguarding data. VDI also provides a secure way to access data from remote
locations, which is important for compliance with government-enforced requirements1.

QUESTION 4

A technician is tasked with installing additional RAM in a desktop computer. Which of the following types of RAM is
MOST likely to be used?

A. SODIMM

B. DDR3

C.ECC

D. VRAM

Correct Answer: B

DDR3 is the most commonly used RAM type in modern desktop computers. It is faster and more energy efficient than

its predecessors, and offers larger capacity modules. References: CompTIA A+ Certification uide, Ninth Edition,
Chapter 5

QUESTION 5

A technician has noticed that when at company headquarters the laptop connection to the Internet is more responsive
than when using the company-provided phone as a hotspot. The technician updated the drivers on the WiFi NIC without
resolution and then verified the configuration on the WiFi was correct.

Which of the following configurations could cause the decreased performance?

A. The connection if throttled.

B. There is a low RFID signal.

C. SSID is not found.

D. Itis out of range.

Correct Answer: A

220-1101 VCE Dumps 220-1101 Study Guide 220-1101 Exam Questions

220-1101 VCE Dumps | 220-1101 Study Guide | 220-1101 Exam Questions 3/3


https://www.leads4pass.com/220-1101.html
https://www.leads4pass.com/220-1101.html
https://www.leads4pass.com/220-1101.html
http://www.tcpdf.org
https://www.leads4pass.com/220-1101.html
https://www.leads4pass.com/220-1101.html
https://www.leads4pass.com/220-1101.html

